
 HK  HONG KONG

2025/04

Diagram / Parts List

CORDLESS CABLE CUTTER

DTC104



 (HK) DTC104 / CORDLESS CABLE CUTTER

 (1/1)



 COVER ZM00000274 001  1
 RELEASE KNOB ZM00000275 002  1
 STRAP PLATE ZM00000157 003  2
 TRIGGER ASS'Y ZM00000276 004  1
 OIL FEED CAP ZM00000277 005  1
 SIWTCH UNIT ZM00000278 006  1
 PAN HEAD SCREW M4X12 ZM00000149 007  15
 TAPPING SCREW 4X12 ZM00000156 008  4
 SPRING (187) ZM00000279 009  1
 COMPRESSION SPRING (599) ZM00000232 010  1
 RUBBER PIN 6 263005-3 011  2
 POWER UNIT ASSY ZM00000244 012  1
 RELEASE UNIT ZM00000280 013  1
 PAN HEAD SCREW M2X4 ZM00000281 014  4
 CAM ZM00000282 015  1
 RAM SPRING(714) ZM00000283 016  1
 BLADE GUIDE ZM00000284 017  1
 SHOULDER BOLT ZM00000285 018  1
 PIN(276) ZM00000286 019  4
 SUPPORT PLATE ZM00000287 020  2
 GRIP ZM00000288 021  2
 BODY HEAD ZM00000289 022  1
 BLADE(1) ZM00000290 023  1
 BLADE(2) ZM00000291 024  1
 LINK ZM00000292 025  2
 LINK HEAD ZM00000293 026  1
 PIVOT PIN ZM00000294 027  1
 RAM SPRING HOLDER ZM00000295 028  1
 THRUST WASHER (2035) ZM00000296 029  2
 THRUST WASHER (1730) ZM00000297 030  1
 NUT AN03 ZM00000298 031  2
 SNAP RING JG-12 ZM00000299 032  4
 HEAT SHRINK TUBE ZM00000300 033  1
 H.S. SET SCREW (D.P.) M5X10 ZM00000301 034  1
 HEX.BOLT M12 X 18 ZM00000302 035  2
 COUNTER SUNK SCREW M6X16 ZM00000303 036  4
 LOCK WASHER M12 ZM00000304 037  2
 TERMINAL 643874-2 038  1
 FERRITE CORE 1 ZM00000305 039  1
 FERRITE CORE 2 ZM00000201 040  2
 HOUSING SET ZM00000306 041  1

 D10  INC. 42
 HOUSING SET ZM00000306 042  1

 D10  INC. 41
 BATTERY HOUSING SET ZM00000307 043  1

 D10  INC. 44
 BATTERY HOUSING SET ZM00000307 044  1

 D10  INC. 43
 OIL UNIT ASSY ZM00000308 045  1

 D10  INC. 13-15
 PAN HEAD SCREW M4X12 ZM00000149 046  2
 H.S. BOLT M5 X 14 ZM00000309 047  2

 DTC104 / CORDLESS CABLE CUTTER
 Parts No. Item  Parts Description Sub  Remark Qty  I/C  Close No. E/C No.

 HK  HONG KONG

 Interchange
  O : Yes
  X : No
  < : the new part can be substituted for the current.
  > : the current part can be substituted for the new.
  S : Interchangeable as a set.

 A:


